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__unchanged_portion_onitted_

596 #define deliver_request_bail out (MG \

597 sysl og(LOG_ WARNI NG "dnssd_clientstub deliver_request: % failed % (%)", (
597 do { syslog(LOG WARNI NG "dnssd_clientstub deliver_request: % failed %l (%
599 static DNSServiceErrorType deliver_request (i pc_nsg_hdr *hdr, DNSServiceQp *sdr)
600 {

601 uint32_t datal en = hdr->datal en; /1 W take a copy here because we’'re goi
602 #if defined( USE_TCP_LOOPBACK) || defi ned(USE_NAMED ERROR RETURN SOCKET)

603 char *const data = (char *)hdr + sizeof (ipc_nsg_hdr);

604 #endi f

605 dnssd_sock_t listenfd = dnssd_I nval i dSocket, errsd = dnssd_I nval i dSocket ;
606 DNSSer vi ceError Type err = kDNSSer vi ceErr Unknown; /1 Default for the "goto
607 int NakeSeparateReturnSocket = 0;

609 /1 Note: need to check hdr->op, not sdr->op.

610 /1 hdr->op contains the code for the specific operation we're currently doin
611 /1 contains the original parent DNSServiceQp (e.g. for an add_record_request
612 /1 add_record_request but the parent sdr->op will be connection_request or r
613 if (sdr->primary ||

614 hdr->op == reg_record_request || hdr->op == add_record_request || hdr->0
615 MakeSepar at eRet ur nSocket = 1;

617 if (!DNSServiceRefValid(sdr))

618 {

619 if (hdr)

620 free(hdr);

621 sysl og(LOG_ WARNI NG, "dnssd_clientstub deliver_request: invalid DNSServic
622 return kDNSServi ceErr_BadRef erence;

623 }

625 if (!hdr)

626 {

627 sysl og(LOG_ WARNI NG, "dnssd_clientstub deliver_request: !hdr");

628 return kDNSSer vi ceErr _Unknown;

629 }

631 i f (MakeSepar at eRet ur nSocket )

632 {

633 #i f defi ned( USE_TCP_LOOPBACK)

634 {

635 union { uintl6_t s; u_char b[2]; } port;

636 dnssd_sockaddr _t caddr;

637 dnssd_sockl en_t len = (dnssd_sockl en_t) sizeof (caddr);

638 listenfd = socket (AF_DNSSD, SOCK_STREAM 0);

639 if (! dnssd Socket Val i d(1i st enf d)) {

640 del i ver _request _bail out ("TCP socket");

641 }

639 if (!dnssd_SocketValid(listenfd)) deliver_request_bailout("TCP socke
643 caddr.sin_famly = AF_I| NET;

644 caddr . si n_port = 0;

645 caddr. sin_addr.s_addr = inet_addr ( MDNS_TCP_SERVERADDR) ;

646 if (bind(listenfd, (struct sockaddr*) &caddr, S|zeof(caddr)) < 0) {
647 del i ver _request _bai |l out ("TCP bi nd");

648 }

649 if (getsockname(listenfd, (struct sockaddr*) &caddr, &l en) < 0) {
650 del i ver _request _bai | out (" TCP get socknane");

651

}
652 if (listen(listenfd, 1)
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653 del i ver _request _bail out ("TCP |isten");

654 }

644 if (bind(listenfd, (struct sockaddr*) &caddr, sizeof(caddr)) < 0) de
645 if (getsockname(listenfd, (struct sockaddr*) &caddr, &l en) < 0) de
646 if (Ilsten(llstenfd 1) < 0) de
655 port.s = caddr.sin_port;

656 data[ 0] = port.b[O0]; /1 don’t switch the byte order, as the

657 ) data[ 1] = port.b[1]; // daenpbn expects it in network byte order

658

659 #el i f defi ned( USE_NAMED_ERROR _RETURN_SOCKET)

660 {

661 mode_t mask;

662 int bindresult;

663 dnssd sockaddr t caddr;

664 listenfd = socket(AF DNSSD SOCK_STREAM 0);

665 if (!dnssd_Socket Valid(listenf d)) {

666 del i ver _request _bai | out (" USE_NAMED ERROR_RETURN_
667 }

657 if (!dnssd_SocketValid(listenfd)) deliver_request_bail out ("USE_NAVED
669 caddr.sun_fam |y = AF_LOCAL;

670 /1 According to Stevens (section 3.2), there is no portable way to
671 /1 determ ne whether sa_len is defi ned on a particular platform

672 #i f ndef NOT_HAVE SA LEN~

673 caddr.sun_|l en = sizeof (struct sockaddr_un);

674 #endi f

675 strcpy(caddr. sun_path, data);

676 mask = umask(o)

677 bi ndresult = bi nd(l istenfd, (struct sockaddr *)&caddr, sizeof(caddr)
678 unmask( mask) ;

679 if (bindresult < 0) {

680 del i ver _request _bai | out (" USE_NAMED ERROR RETURN_
669 if (bindresult < 0) deliver_request_bai Tl out (" USE_NAVED ERRO
670 if (listen(listenfd, 1) < 0) deliver_request_bail out (" USE_NAVED ERRO
681

682 if (listen(listenfd, 1) < 0) {

683 ) del i ver _request _bai | out (" USE_NAMED ERROR_RETURN _
684

685

686 #el se

687

688 dnssd_sock_t sp[2];

689 if (socketpair(AF_DNSSD, SOCK_STREAM 0, sp) < 0)

690 del i ver _request _bai |l out ("socketpair");

691 }

675 if (socketpalr(AF_DNSSD, SOCK_STREAM 0, sp) < 0) deliver_request_ba
692 el se

693 {

694 errsd = sp[O0]; /1 We'll read our four-byte error code from
695 listenfd = sp[1]; /1 We'll send sp[1] to the daenobn

696 #if !defined(__ppc__) && defined(SO DEFUNCTOK)

697

698 int defunct = 1;

699 if (setsockopt(errsd, SOL_SOCKET, SO DEFUNCTCK, &defunct, si
700 sysl og(LOG_WARNI NG "dnssd_clientstub Connect ToServer: S
701 }

702 #endi f

703 }

704 }

705 #endi f

706 }

708 #if !defi ned(USE TCP_LOOPBACK) && ! defi ned( USE_NAMED_ERROR_RETURN_SOCKET)

709 /1 1f we’re going to make a separate error return socket, and pass it to the
710 /1 using sendnsg, then we'll hold back one data byte to go withit.

711 /1 On sone versions of Unix (including Leopard) sending a control nessage w
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/ any associated data does not work reliably -- e.g. one particular issue w
/ intois that if the receiving programis in a kqueue | oop waiting to be n
/ of the received nessage, it doesn't get woken up when the control nessage
f (NBkeSeparateRet;J;nSocket || sdr->op == send_bpf)

dat al en- - Ckay to use sdr->op when checking for op == send_bpf

/1 At this point, our listening socket is set up and waiting, if necessary,

Conver t Header Byt es(hdr)

/1 sysl og( LOG_WARNI NG, "dnssd_cl i entstub del i ver request witing %u bytes"

/1if (MakeSepar at eRet urnSocket) sysl og(LOG WARNING, "dnssd_clientstub deli ve
#i f TEST_SENDI NG ONE_BYTE_AT_A TI ME

unsigned int i;

for (i=0; i<datalen + sizeof(ipc_nmsg_hdr); i++)

sysl og(LOG_ WARNI NG, "dnssd_clientstub deliver_request witing %", i);
if (wite_all(sdr- >sockfd “((char *)hdr)+i, 1) < 0)

{ syslog(LOG WARNING, "write_all (byte %) failed", i); goto cleanup; }
usl eep(10000);

}
#el se

if (wite_all(sdr->sockfd, (char *)hdr, datalen + sizeof(ipc_nsg_hdr)) < 0)
/Il wite_all already prints an error nessage if there is an error witin
/'l the socket except for DEFUNCT. Logging here is unnecessary and also w
/1 in the case of DEFUNCT sockets
sysl og(LOG_I NFO, "dnssd_clientstub deliver_request ERROR wite_all (%,

sdr->sockfd, (unsigned |ong)(datalen + sizeof(ipc_nmsg_hdr)));

goto cl eanup;

}
#endi f

if (!MakeSepar at eRet ur nSocket)
errsd = sdr->sockfd;
i f (MakeSepar at eRet urnSocket || sdr->op == send_bpf) /'l Okay to use sdr->
{
#if defined( USE_TCP_LOOPBACK) || defined( USE_NAMED ERROR RETURN_SOCKET)
/1 At this point we may wait in accept for a few mlliseconds waiting fo
/1 but that’s okay -- the daenon should not take nore than a few nmillise
/1 set_waitlimt() ensures we do not block indefinitely just in case som
dnssd_sockaddr _t daddr;
dnssd_sockl en_t | en = sizeof (daddr);
if ((err = set_waitlimt(listenfd, DNSSD_CLIENT_TI MEQUT)) != kDNSService
goto cl eanup;
errsd = accept(listenfd, (struct sockaddr *)&daddr, & en);
if (!dnssd_SocketValid(errsd)) {
if (!dnssd_SocketValid(errsd))
del i ver _request _bai |l out ("accept");
}

#el se

struct iovec vec = { ((char *)hdr) + sizeof(ipc_msg_hdr) + datalen, 1 };
struct nsghdr nsg;

struct cnsghdr *cnsg;

char cbuf [ CMSG_SPACE(4 * si zeof (dnssd_sock_t))];

nsg. meg_nane = 0;
nmsg. neg_nanel en =0;
meg. MeQ_i OV = &vec;
msg. msg_i ovl en = l,

g.nsg_fl ags =
|f (NakeSeparateReturnSOCKet || sdr->op == send_bpf) /1l Okay to use s
if (sdr->op == send_bpf)
{

int i;
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777 char p[12]; /1 Room for "/dev/bpf999" with term nating null
778 for (1=0; i<100; i++)

779 {

780 snprintf(p, sizeof(p), "/dev/ bpf %", i);

781 listenfd = open(p, O RDV\R 0

782 /1if (dnssd_Socket Vali d(list enf d)) sysl og(LOG WARNI NG " Send
783 if (!dnssd_SocketValid(listenfd) && dnssd_errno != EBUSY)
784 sysl og(LOG WARNI NG, "Error opening % % (%)", p, dnssd
785 if (dnssd_SocketValid(listenfd) || dnssd_errno != EBUSY) bre
786 }

787 }

788 nsg. neg_control = chuf;

789 nmeg. meg_control l en = CMSG_LEN(si zeof (dnssd_sock_t));

791 chsg = CVBG FI RSTHDR( &nsgQ) ;

792 cnsg- >cnsg_l en = CMSG_LEN(si zeof (dnssd_sock_t));

793 cnsg- >cnsg_| evel = SOL_SOCKET;

794 cmsg- >cnsg_t ype = SCM_RI GHTS;

795 *((dnssd_sock_t *)CMSG DATA(cnsg)) = listenfd;

796 }

798 #if TEST_KQUEUE_ CONTROL_MESSAGE BUG

799 sl eep(1);

800 #endi f

802 #if DEBUG 64BI T_SCM RI GHTS

803 sysl og( LOG_WARNI NG, "dnssd_clientstub sendnsg read sd=% wite sd=% %d
804 errsd, listenfd, sizeof(dnssd_sock_t), sizeof(void*),

805 5|ze0f(struct cnsghdr) + sizeof (dnssd_sock_t),

806 CMSG_LEN(si zeof(dnssd sock_t)), (I ong)CMSG_ SPACE(Sl zeof (dnssd_soc
807 (1ong) ((char*) CMSG DATA(cmeg) + 4 - chuf));

808 #endif // DEBUG 64BI T_SCM RI GHTS

810 if (sendnsg(sdr->sockfd, &msg, 0) < 0)

811

812 sysl og(LOG WARNI NG, "dnssd_clientstub deliver_request ERROR sendnsg
813 errsd, listenfd, dnssd_errno, dnssd_strerror(dnssd_errno));
814 err = kDNSServi ceErr_| nconpati bl e;

815 goto cl eanup;

816

818 #if DEBUG 64BI T_SCM RI GHTS

819 sysl og(LOG WARNI NG, "dnssd_clientstub sendnsg read sd=%l wite sd=%l oka
820 #endif // DEBUG 64BI T_SCM Rl GHTS

822 #endi f

823 /1 Close our end of the socketpair *before* calling read_all() to get th
824 /Il Otherwise, if the daenon cl oses our socket (or crashes), we will have
825 /1 in read_all () because the socket is not closed (we still have an open
826 /Il Note: listenfd is overwitten in the case of send_bpf above and that
827 /1 for send_bpf operation.

828 dnssd_cl ose(l i stenfd);

829 ) listenfd = dnssd_I nval i dSocket; // Make sure we don’t close it a second
830

832 /1 At this point we may wait in read_all for a fewnilliseconds waiting for
833 /1 but that’'s okay -- the daenon should not take nmore than a few millisecond
834 /] set_waitlimt() ensures we do not block indefinitely just in case sonethi
835 if (sdr->op == send_bpf) /] Ckay to use sdr->op when checking for op ==s
836 err = kDNSServi ceErr_NoError;

837 else if ((err = set_waitlimt(errsd, DNSSD CLI ENT_TI MEQUT)) == kDNSServi ceEr
838

839 if (read_all (errsd, (char*)&err, (int)sizeof(err)) < 0)

840 err = KDNSServi ceErr_ServiceNotRunning; // On failure read_all wll
841 el se

842 err = ntohl (err);
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843 }

844 /1sysl og(LOG_WARNI NG, "dnssd_clientstub deliver_request: retrieved error cod
846 cl eanup:

847 i f (MakeSepar at eRet ur nSocket)

848

849 if (dnssd_SocketValid(listenfd)) dnssd_close(listenfd);

850 if (dnssd_SocketValid(errsd)) dnssd_cl ose(errsd);

851 #if defined( USE_NAMED_ERROR RETURN_SOCKET)

852 /1 sysl og(LOG WARNI NG, "dnssd_clientstub deliver_request: renoving UDS:
853 if (unlink(data) != 0)

854 sysl og(LOG WARNI NG, "dnssd_clientstub WARNING unlink(\"%\") failed
855 /1 else syslog(LOG WARNI NG, "dnssd_clientstub deliver_request: renpved U
856 #endi f

857 1

859 free(hdr);

860 return err;

861 }

__unchanged_portion_onitted_




